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GCSE Mathematics (Linear) 2540
Formulae: Foundation Tier

You must not write on this formulae page. .
Anything you write on this formulae page will gain NO credit.

b g —>]

Area of trapezium = -L(a + bk / Jiz_j \

e b

Cross
Volume of prism = area of cross section x length
. i /’I
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Answer ALL TWENTY NINE questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator.

1. (a) Write the number 3187 to the nearest thousand.

.............. ﬁ‘V&WOUSmAM\a\Si%@t‘ﬁ

----------

..........

)

(Totai 3 marks)

Leave A
blank

(a) Measure the length of the line 4B.
Give the units with your answer.

Cewr
............................ 5
(b) On the diagram, mark with a cross (x) the midpoint of the line 4B.
1 Q2
(Total 3 marks) T
0L OO0 00 0 O N S
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Leave A
blank

3. Sharif buys some fruit.
The pictogram shows information about the number of apples and the number of oranges
he buys.

Apples

Oranges

Peaches (}] B
Key: represents 8 fruit

(a) Write down the number of apples he buys.

S+% 16

....................................

(b) Write down the number of oranges he buys. 6
T+t s +1L 2

....................................

Sharif buys 12 peaches.
(¢) Use this information to complete the pictogram.
€ + 4
= H

1 Q3
(Total 3 marks) T
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4. (a) Write these numbers in order of size.

Start with the smallest number.

17 6 168 24

................................................................................................................

(b) Write these numbers in order of size.
Start with the smallest number.

1.8 3.71 0.5 124

................................................................................................................

(Total 2 marks)

blank

Y
Leave

5.

The total cost of these 2 pens is 60p.

Work out the total cost of 5 of these pens.
Give your answer in pounds.

2 pewns (03t ©O0p
IW WA WSt 3Up

s ol asy S x30p 7 \S0v
S p . %\-SQ
¢ 1250 Qs
(Total 3 marks) P—}
3
RE) 00 0 0 0 A0 A Tarn over
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6. The table shows the distances in kilometres between 5 cities.

Hull
100 Leeds
162 73 Manchester
110 60 65 Sheffield
63 40 118 95 | York

(a) Write down the distance between Hull and Manchester.

Leave h
blank

....... 672 ..k;
¢y
(b) From the table, write down the name of the city which is
(i) nearest to Hull,
........... York (63um)
(ii) 60 km from Sheffield.
............. heeds
@ Q6
(Total 3 marks) T

Holl

@—\ Mo eyl

\\V\L Y s o oy
P NSV S ‘G\'\RD QV'GSS/W\LU::'

LS o vu.\\o\.r:){/.
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Leave )
blank

1

A 4 3 L2 41 0 I 2 3 +
- |

iy}

=3

-4

-5

(a) (i) Write down the coordinates of the point 4.

(ii) Write down the coordinates of the point B.

A0
2)
(b) (i) On the grid, plot the point (3, 2).
Label this point P.
(ii) On the grid, plot the point (— 4, 3).
Label this point Q.
@) 9_7]
(Total 4 marks) |

v
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. Steve asked his friends to tell him their favourite colour.

Leave 3
blank

Here are his results.

Favourite colour Tally Frequency
Red ) /// 6
Blue W 8
Green ) /// 5
Yellow ' 3

(a) Complete the bar chart to show his results.

., %
6 7
5 7
Frequency 4 / //
N BN/
1 AR,
0 AR/ WY

Blue Green Yeliow
Favourite colour

@
(b) Which colour did most of his friends say?

Blue 15 o \/\\3\&@% ................................ “ los

a4 -~ ~ ~ -~ a - -~ ~ -~ ~




Leave h
blank
Mirror line
(a) Reflect the shaded shape in the mirror line.
(1)
|
|
|
i
|
|
i
|
(b) Draw the line of symmetry on this triangle.
1 Q9
(Total 2 marks) 7
A

9
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19. Work out

Leave )
blank

@) 3x3-53 5x3 =1
A- S =4 G
Gi) 20+ (12-2) 20 - (Lcﬂ =2
e ou
(Total 3 marks) T
11. (a} Here are some fractions.
2 4 2 7
4 8 5 14
Which one of these fractions is not equal to 1o 2-
2 e
e
Give a reason for your answer.
PR v numles 1s age et o
i SN e
)
(b) Work out % of 20
Aot 20 = 5
hY
3 ot 20 = \S g
=S |
2) Qu

(Total 4 marks)

& w Wievik ou s M\wb,s A (f\[o\(),% \{-\\[31—

‘é no Urackess  co mu\f\w\\mM
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|
12. P=3n P=3x6 :
n=6
(a) Work out the value of P.
P B
1)
CQ:BZC +d Q - Q " 3 A 2-
=2 G+ 2
(b) Work out the value of Q.
ol
@) Q12
(Total 3 marks)
13. (a) Complete the table by writing a sensible metric unit for each measurement.
The first one has been done for you.
The length of the river Nile 6700 kilometres ...
The height of the world’s tallest tree | 110 musy
The weight of a chicken’s cgg 70 ONAAS
The amount of petrol in a full petrol tank of a car | 40 _]"\ Ly oo
3)
(b) Change 4 metres to centimetres.
VU waar e = LO0cwn 40@ ........... cm
1)
(¢} Change 1500 grams to kilograms. | 60% = \S00 Ko
ISGy ~ve00 'S kg
(1 Q13-
(Total 5 marks) r‘l
il
| 0 O 0 O T 0 Turn over



14. There are three beads in a bag.
One bead is blue, one bead is yellow and one bead is green.

«

)0
®

Zoe takes a bead at random from the bag.

(a) On the probability scale, mark with the letter B the probability that she takes a blue

bead. yg | 9/}
| — ,5* |
0 l’ 1 1
/]\ 2

Blue )
Zoe now throws a coin,
One possible outcome for the bead and the coin is (green, heads)

(b) List all the possible outcomes for the bead and the coin.
One has already been done for you.

...................................................................................................

....................................................................................................................................

....................................................................................

(Total 3 marks)

o)
[t
o

]

.
Leave
blank
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Leavc\
blank
15. (a) :
Diagram NOT
accurately drawn
459\ x
L M N
LMN is a straight line.
(i) Work out the value of x.
o ST
(ii) Give a reason for your answer.
............................................................................................................................ (2)
(b)
Diagram NOT
accurately drawn
Work out the value of y.
1550 — (60 % %0
50 — 140 _ 4y
V= e (2) 9—%\5
{Total 4 marks) _ !
W
13
D00 OO0 0 0 Turn over
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Leave

blank
16. (a) Write 92% as a decimal.
_ O q9
1)
(b) Write 3% as a fraction.
3
oo
0]
(c) Work out 5% of 400 grams.
o[+ = 40
S = 20
20
............................................ grams
(2) Q16

{Total 4 marks) (_]
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Leavew‘
blank
17. The diagram shows the position of two airports, 4 and B.
A plane flies from airport 4 to airport 5. -
N
[ 3
y X
bew
Scale: 1cm represents 50km
(a) Measure the size of the angle marked x.
130
4y
(b} Work out the real distance between airport 4 and airport B.
Use the scale 1¢m represents S0km.
= 6 > 50
200
@
Airport C is 350km on a bearing of 060° from airport B.
(c) On the diagram, mark airport C with a cross (X).
Label it C. J~ _
256 7 SQ =7 @ lo17
(Total 5 marks)
o~

O 0 A 00 ramover
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3@15 Op WA thvaey
1

\L Leave\
blank
18. (a) Complete the table of values for y = 3x + 1
x -3 -2 -] 0 1 2
y -8 -5 -2 { A —7
2)
(b) On the grid, draw the graph of y = 3x + 1
‘yﬂ
8
7
6 7 :
5 /
4 /
%
5l /)
4/
/
B 2 [ g /o a | x
A
// -
£ —4
/ >
=9
(2 Q18
(Total 4 marks) T
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Leave h
blank

19. Kaysha has a part-time job.
She is paid £5.40 for each hour she works.
Last week Kaysha worked for 24 hours.

Work out Kaysha’s total pay for last week.

5 - 40
24

¢ 129 . &0 Q19

....................................

20. (a) Work out -i— + 1 = 4 4+ 1. oul 5

12
- \2 ‘2 \2.

...................................

.................................... 20
m 2
(Total 3 marks) j

0 00 O A0 runover
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"
Leave

blank
21. (2) Simplify d+d+d+d+d
Counk R d” SA
) @)
(b) Simplify 17+ 32
C\/\ow W\o\\/\u) 3L> do &0“ \""WQ QK\DZ
................................ (1)
(c) Expand 43Ba-7)
12 — 2% 12_0\ — Q/%
2)
(@ Simplify rxr2 = £xtxb
tS
................................ (1)
(e} Simplify m°+m’®
. s
Solerase £ powiens AL
(1 Q21
(Total 6 marks) j
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Leave\
blank
22. Here are the ages, in years, of 15 teachers.
35 52 42 27 36
23 31 41 50 34
44 28 45 45 33
(a) Draw an ordered stem and leaf diagram to show this information.
You must include a key.
2117 3 0%
218 6 U 4 borMmour ovdev farsk
412 \ 4 S5 \S 2as\es  Ben
5 2 O &5 OV da~
21 3 1%
2 1 4 5 6 Key: 2|3 =23
4 l 2 4 S5 S @5
S5l e 2 53
3)
One of these teachers is picked at random.
(b) Work out the probability that this teacher is more than 40 years old.
o)
A out of 1S ave ovev 40 -TS”“
..... (2) oz
(Total S marks) 7

) 0 O urn ver
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23. David buys some stamps.

Each stamp costs 25p.
The total cost of the stamps is £3

(a) Work out the number of stamps David buys.
o Mo 259% {3.
A “%\
4x3 W %,3

....................................

Adam, Barry and Charlie each buy some stamps.
Adam buys x stamps.
Barry buys three times as many stamps as Adam.

(b) Write down an expression, in terms of x, for the number of stamps Barry buys.

BN AUXD o DI ah ¥ e

....................................

Charlie buys 5 more stamps than Adam.

(c) Write down an expression, in terms of x, for the number of stamps Charlie buys.

Skx XA4S A4S

....................................

(Total 4 marks)

Leave )
blank

Q23
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.......

Leave\
blank
24.
Diagram NOT
accurately drawn
—
/
w4 cn ———>
Work out the total surface area of the triangular prism.
2 Svdes 2 % 4x3 = 3 =12
R ‘
Rack = 1x35 =21 |
fFleov = 4x] = 2%
Slepe = S5X) =35
12 + 2\ + 2 S v+ 35
33 ¥ 2% ¥ 35
&l +3S =46
ofé ........ cm? 9%4
(Total 3 marks) |
O 00 0O Turn over



25. Using the information that
4.8x34=1632

write down the value of

Leave )
blank

4 ,
(a) 483 4% Smemged b 45
So wulhply 1632 xlo | 632
4y
(b) 4.8x3.4
t . 1
24 —16 =34 So 632 ~o
16-32
(1)
(c) 163.2+48 ™~ 156 * So
mnS close 1 ) 94
34 gtfr ................................ (1) 025
~
(Total 3 marks) }
26. Work out an estimate for 302x9.96
0.51
300 > \O . 2000 - ©cWU
 Tas
A~
o5 >
.......... GQ'(SL) Q26
(Total 3 marks) .‘}
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~
Leave

blank
27. Inthe space below, use ruler and compasses to construct an equilateral triangle with sides
of length 6 centimetres.
You must show all your construction lines.

One side of the triangle has a]ready been drawn for you.

. MUSE use o paw
0 A G/@’W\\P‘?"S) ‘ / ol de\()as&e;
fo base Lvagn '
N S
QA anh of
hoa st Avoaw
lwany AT YR

Y)K’ i R Y\J@ evesy

E

( Ce VA ROV

Q27
A WWWALS Soanl UKM(O\N\ SO E"q/u\\m«\“q/w]\ u
(Total 2 marks) }
28. ~2 £x<3
x is an integer. no 32 lracaust L
Write down all the possible values of x. | \Z

Ve o2
é (Total 2 marks) —.]

A

D 0. 0 0 0 O rnover
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29.

(a) Rotate triangle P 180° about the point (-1, 1).

Label the new triangle A. Use Sraomwm 3 PWW

(b) Translate triangle P by the vector ( 61) .

Label the new triangle B.

Mmove & B e ‘“C’)V\b"

@)

)

Leave )
blank

v ~ ~ -~ -~ . a -~ ~ - e ~




Leave )
blank

I~
F
23

%

07
=
™
™

%

(¥S]
\Eé,

C 2
24 S
| = = i
9, 1 2 3 4 5

(c) Reflect triangle Q in the line y = x.

Label the new triangle C.
2 Q29

(Total _é_ marks)

TOTAL FOR PAPER: 100 MARKS
END
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